BRI T 50\ FUlcon

Through-type Terminal Block

E v F_,/Pitch 16mm

kidl]
2wt | FRO58E-PKCA
E %
oting ACB00V  75A
AL 500V 1000MQ I E
Insulation Resistance | DC500V  1000MQ and over
it =& 3000V 1 oERIE
Withstands Voltage |[AC3000V 1 minute and over
BE TR
Compati;IEé Wire 22.0mm*
& #H
Number of Poles 3P

—% 257, General Tolerance +0.5

‘ REE/Scale ¥4 HAL,Unit mm ‘

79 £1.0
6.5 66 *£0.6 6.5
17 16 17
= = -
t~ -&- _,i:::' o~
T IF’_/ NIV, NI IV, N (
B A N | | i Wan | =
/)\ 7 :IL\ R -\ — ™
- 71 X1 M| (NG| [N A
2-95.5 | -F:j_\
| WA | | K Lo
T T Ll T M
01 \k
j2.5] MO
6 19
3_ 13 _ 16
'_.' et
i | ] K
| |
[ | Lo
_T._TJ L i Te}
| | N
o~ N
1 I B I
N -
Lo
o3
—
51
19
o gk [ ] ——[exgE ]| ——3]P. 24
® Ordering Form : Type No.  Screw Diameter ~ No. of Poles (P)
O FEML Y A L AT PV 7 1E M5 2%2.4N-m, M6 43.0N'm T¥,
M5 &L M6HHD EFTOTHIHE T SW)
® Connection screw : Tightening torque is M5 : 2.4 N-m, M6 : 3.0 N-m.
(Specify either M5 or M6 for a connecting screw)
ezt T ay xva—t¥—2A (F2117)
® Other options *Jumper (F2117)
B4 Specifications.
8%/ Part No. % #Part Name # B/ Material #1&,Standard ~Tik/ Size 4EE / Treatment fis %,/ Remark
1 I Base PPS UL B f1 Black
9 HEELAAA Terminal # 41  Brass C3604B =97V A% Nickel-Plated
3 FERLE A Screw #%  Steel SWCH,/SPCC MEXQ-BX128 | ZorhAvd NickelPlawed | 7V—22 X TypeD
4 AT FIK Marking strip | RUA—RAAF  Polycarbonate UL wOE ¢ 1.0 H fa  White
5 717N — Cover ARYA—HRAAR Polycarbonate UL W OJE t1.5 % MW Transparence
6 AIN=1EEA  Coverretaining screw Ol Brass C2700W M3 Zyr v AsF Nickel-Plated | PW 2 AZXFX Typel®)
7 #73=1kFv b Cover retaining nut # 4l Brass C3604B M3

EicT ST HH (3 ST

131



